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Directions: Each of the passages below is followed by some questions. For each question four
answers are given. Read the passages carefully and choose the best answer to each of the
questions. Put your choice in the ANSWER SHEET. (30 points)

Text 1

A wise man once said that the only thing necessary for the triumph of evil is for good men to
do nothing. So, as a police officer, I have some urgent things to say to good people.

Day after day my men and I struggle to hold back a tidal wave of crime. Something has gone
terribly wrong with our once-proud American way of life. It has happened in the area of values. A
key ingredient is disappearing, and I think I know what it is: accountability.

Accountability isn’t hard to define. It means that every person is responsible for his or her
actions and liable for their consequences.

Of the many values that hold civilization together — honesty, kindness, and so on — ac-
countability may be the most important of all. Without it, there can be no respect, no trust, no
law — and, ultimately, no society.

My job as a police officer is to impose accountability on people who refuse, or have never
learned, to impose it on themselves. But as every policeman knows, external controls on people’s
behavior are far less effective than internal restraints such as guilt, shame and embarrassment.

Fortunately there are still communities — smaller towns, usually — where schools maintain
discipline and where parents hold up standards that proclaim: “In this family certain things are not
tolerated — they simply are not done!”

Yet more and more, especially in our larger cities and suburbs, these inner restraints are
loosening. Your typical robber has none. He considers your property his property; he takes what he
wants, including your life if you enrage him.

The main cause of this break-down is a radical shift in attitudes. Thirty years ago, if a crime
was committed, society was considered the victim. Now, in a shocking reversal, it’s the criminal
who is considered victimized: by his underprivileged upbringing, by the school that didn’t teach
him to read, by the church that failed to reach him with moral guidance, by the parents who didn’t
provide a stable home.

I don’t believe it. Many others in equally dlsadvantaged circumstances choose not to engage
in criminal activities. If we free the criminal, even partly, from accountability, we become a soci-
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ety of endless excuses where no one accepts responsibility for anything,
We in America desperately need more people who believe that the person who commits a

crime is the one responsible for it. (395 words)

31. What the wise man said suggests that .
[A] it’s unnecessary for good people to do anything in face of evil
[B] it’s certain that evil will prevail if good men do nothing about i
[C] it’s only natural for virtue to defeat evil ’
[D] it’s desirable for good men to keep away from evil

32. According to the author, if a person is found guilty of a crime,
[A] society is to be held responsible
[B] modern civilization is responsible for it
[C] the criminal himself should bear the blame
[D] the standards of living should be improved

33. Compared with those in small towns, people in large cities have
[A] less self-discipline
[B] better sense of discipline
[C] more mutual respect
[D] less effective government

34. The writer is sorry to have noticed that
[A] people in large cities tend to excuse criminals
[B] people in small towns still stick to old discipline and standards
[C] today’s society lacks sympathy for people in difficulty
[D] people in disadvantaged circumstances are engaged in criminal activities

35. The key point of the passage is that .
[A] stricter discipline should be maintained in schools and families
[B] more good examples should be set for people to follow
[C] more restrictions should be imposed on people’ s behavior
[D] more people should accept the value of accountability

Text 2

The period of adolescence, i.e., the person between childhood and adulthood, may be long or
short, depending on social expectations and on society’s definition as to what constitutes maturity
and adulthood. In primitive societies adolescence is frequently a relatively short period of time,
while in industrial societies with patterns of prolonged education coupled with laws against child
labor, the period of adolescence is much longer and may include most of the second decade of
one’s life. Furthermore, the length of the adolescent period and the definition of adulthood status
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may change in a given society as social and economic conditions change. Examples of this type of
change are the disappearance of the frontier in the latter part of the nineteenth century in the United
States, and more universally, the industrialization of an agricultural society.

In modem socicty, ceremonies for adolescence have lost their formal recognition and sym-
bolic significance and there no longer is agreement as to what constitutes initiation ceremonies.
Social ones have been replaced by a sequence of steps that lead to increased recognition and social
status. For example, grade school graduation, high school graduation and college graduation con-
stitute such a sequence, and while each step implies certain behavioral changes and social recognition,
the significance of each depends on the socio-economic status and the educational ambition of the
individual. Ceremonies for adolescence have also been replaced by legal definitions of status roles,
right, privileges and responsibilities. It is during the nine years from the twelfth birthday to the
twenty-first that the protective and restrictive aspects of child-hood and minor status are removed
and adult privileges and responsibilities are granted. The twelve-year-old is no longer considered a
child and has to pay full fare for train, airplane, theater and movie tickets. Basically, the individual
at this age loses childhood privileges without gaining significant adult rights. At the age of sixteen
the adolescent is granted certain adult rights which increases his social status by providing him
with more freedom and choices. He now can obtain a driver’s license; he can leave public schools;
and he can work without the restrictions of child labor laws. At the age of eighteen the law provides
adult responsibilities as well as rights; the young man can now be a soldier, but he also can marry
without parental permission. At the age of twenty-one the individual obtains his full legal rights as
an adult. He now can write, he can buy liquor, he can enter into financial contracts, and he is
entitled to run for public office. No additional basic rights are acquired as a function of age alter
majority status has been attained. None of these legal provisions determine at what point adulthood
has been reached but they do point to the prolonged period of adolescence. (466 words)

36. The period of adolescence is much longer in industrial societies because
[A] the definition of maturity has changed
[B] the industrialized society is more developed
[C] more education is provided and laws against child labor are made
[D] ceremonies for adolescence have lost their formal recognition and symbolic
significance

37. Former social ceremonies that used to mark adolescence have given place to
[A] graduations from schools and colleges
[B] social recognition
[C] socio-economic status
[D] certain behavioral changes

38. No one can expect to fully enjoy the adulthood privileges until he is
[A] eleven years old
[B] sixteen years old
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[C] twenty-one years old
[D] between twelve and twenty-one years old

39. Starting from 22,
[A] one will obtain more basic rights
[B] the older one becomes, the more basic rights he will have
[C] one won’t get more basic rights than when he is 21
[D] one will enjoy more rights granted by society

40. According to the passage, it is true that .
[A] in the late 19th century in the United States the dividing line between adolescence and
adulthood no longer existed
[B] no one can marry without the permission of his parents until the age of twenty-one
[C] one is considered to have reached adulthood when he has a driver’s license
[D] one is not free from the restrictions of child labor laws until he can join the army

Text 3

Most growing plants contain much more water than all other materials combined. C. R. Darnes
has suggested that it is as proper to term the plant a water structure as to call a house composed
mainly of brick a brick building. Certain it is that all essential processes of plant growth and devel-
opment occur in water. The mineral elements from the soil that are usable by the plant must be
dissolved in the soil solution before they can be taken into the root. They are carried to all parts of
the growing plant and are built into essential plant materials while in a dissolved state. The carbon
dioxide from the air may enter the leaf as a gas but is dissolved in water in the leaf before it is
combined with a part of the water to form simple sugars — the base material from which the plant
body is mainly built. Actively growing plant parts are generally 75 to 90 percent water. Structural
parts of plants, such as woody stems no longer actively growing, may have much less water than
growing tissues. B

The actual amount of water in the plant at any one time, however, is only a very small part of
what passes through it during its development. The processes of photosynthesis, by which carbon
dioxide and water are combined — in the presence of chlorophyll (4% %) and with energy de-
rived from light — to form sugars, require that carbon dioxide from the air enter the plant. This
occurs mainly in the leaves. The leaf surface is not solid but contains great numbers of minute
openings, through which the carbon dioxide enters. The same structure that permits the one gas to
enter the leaf, however, permits another gas-water vapor — to be lost from it. Since carbon diox-
ide is present in the air only in trace quantities (3 to 4 parts in 10,000 parts of air) and water vapor
is near saturation in the air spaces within the leaf (at 80°F, saturated air would contain about 186
parts of water vapor in 10, 000 parts of air) , the total amount of water vapor lost is many times the
carbon dioxide intake. Actually, because of wind and other factors, the loss of water in proportion
to carbon dioxide intake may be even greater than the relative concentrations of the two gases.
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Also, not all of the carbon dioxide that enters the leaf is synthesized into carbohydrates BAKE
). (408 words)

41. A growing plant needs water for all of the following except
[A] forming sugars
[B] sustaining woody stems
[C] keeping green
[D] producing carbon dioxide

42. The essential function of photosynthesis in terms of plant needs is .
[A] to form sugars
[B] to derive energy from light
[C] to preserve water
[D] to combine carbon dioxide with water

43. The second paragraph uses facts to develop the essential idea that
[A] a plant efficiently utilizes most of the water it absorbs
[B] carbon dioxide is the essential substance needed for plant development
[C] a plant needs more water than is found in its composition
[D] the stronger the wind, the more the water vapor loss

44. According to the passage, which of the following statements is TRUE?
[A] The mineral elements will not be absorbed by the plant unless they are dissolved inits root.
[B] The woody stems contain more water than the leaves.
[C] Air existing around the leaf is found to be saturated.
[D] Only part of the carbon dioxide in the plants is synthesized.

45. This passage is mainly about .
[A] the functions of carbon dioxide and water
[B] the role of water in a growing plant
[C] the process of simple sugar formation
[D] the synthesis of water with carbon dioxide

(2 BB AR 5)
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BB, ERHIB: WRHFANFAREEHNTE, BEBHEFERSE LA
ZRXER1BE 17, BHARRKREE: BRREENTREENE—HERL
AN, BRNREANFARBRARRITS, BENFAEERSR
T, BTU5 B MEEEEHETE.

EMA. DIIREFNAERARKKE LEFHER: SR CENELHBREH
HRE; BRI AFEER.

WA, BEEAHC: LEABCKLx 53R,

BT HER, RBEENRA, WREAREAERE, ZZTREBEONYREE, X
BEMEBE—BRETEEREESS0: We in America desperately need more people
who believe that the person who commits a crime is the one responsible for it. BB X
EFHREZR.

BEIWA. B. D IREMABTRBREEFNMTHRAE. SHAXELES. 9 &,

HYE, ERXIA: KRETHABERED,

BT KR, SEREENMNIBEMHALE, SEXRTHA . BRAXEEG6. 7
B BoBAERH: ERAENMINHEHRMAN HCREGERER™HK: %7351,
KR REHX K AN LTSS Ginner restraints) B2, BiLl A HEBER.
KW B. CHIRENAEE A HK;

EHRD EXXHNESAHT:; ARHLAEEE.

ANHE, BRIA: RETHAEGRS ERER.

BB M RAEERBMER BN 42 BHXEE6. 7. 8. &, HANKKES
33 AL, BRATRF R EHEE. AE5SRES 7. 8 BEglXImTmA
EEHLRRRLAETHEEN, BLAAGAFERENSES.

BB NEBRE, BXREF—8H B OEER ERREE TR,

B C 5FICFHT

BBDAEERE, BAEETHEREINMERBRLE T AMETEALE (B
BISCEH 8. 9 BD.

EEAEE, BEEHND: EEMANSEZHENMNE.

XENEBERRH AT EEMRREELRS—HE: the person who commits a crime
is the one responsible for it, LAKIRHIUEME 2 B: A key ingredient is disappearing,
and I think I know what it is: accountability. 3 B IRA IS HIEZ O A MR
HAMER TR,

ﬁﬁA\C$%ﬂﬁ,@%ﬁi¢¢%#*ﬁ%Mﬁ%¢ﬁm%%gm%mmﬁg
t: EWB WABEIKER.

»2w
ﬁ%—%&%io$ii§%ﬁk%ﬁ%&$Wm&ﬁﬁﬁ%wxﬁﬂﬁ,u&ﬁ




—. 1991 XA 9

FEHEFEHERISZSAEMAER. XERETOT, BRARELKTEREHBERLLR
BIBEET N EH. .

36.

37.

38.

39.

40.

HYE, BERXAC: BETEZHNEF, #lgTRELEE.

ZRCER 1 B3 2 4). In primitive societies adolescence is frequently a relatively short
period of time, while in industrial societies with patterns of prolonged education coupled with
laws against child labor.

EIMA. D IURHFFRNIFE G4 RERRLE LT ERE T HENER S HE N
b, ERXHAREEPERKOER; B HHEXERREL.

W, BRIA: SRR NZMAZEVR,

BT R, DEMEEERARSHLLSNR B2 T REXEF 2R
®1. 2. 36). F2HAIBHHANREE—RIISBIIRG, B30BEEH A
BIFUAT —RIEBIPTIE. BT give place to EH: AT, H--r--- T,
EIB. DAEEE. HAREXEE 2882, 3AFBENAR, SOEHE
AT ATUREMEERLRFEEIME: /N (gradeschool). F 22 % K 27/ = 4
B9, T EAE St R4Sk A R MA 18

CHIOFHMH QLT MREDARE, ERSFHARE T ARSI B A1
ARIOBEL, MHAREEREKNBRRS (BETEE 22 B]E I 4).
HAEB B. C. D ASZHEFNRRAMBRE R, HEFRERENIEM, FHik
rEEBE.

MYE, BRAC: 218 HEMATE 21 22 HFEERLZ2RA KA.
SIRCES 2 BE5E 4 : At the age of twenty-one the individual obtains his full legal
rights as an adult. I A, B. D#AESEE.

BMYE, BERAC: N2FFHh, —MPANEERFRARL 21 8TLT,
SR 38 MR ST RS 2 BUEIBUE 2 A): No additional basic rights are acquired as a
function of age alter majority status has been attained. 3 A. B. D A& HE.

AW, ERAA: 19HEEY, ZENESEMRAZINHEK S RE O EEE.
SRS 1 BB 3. 4 17: Furthermore, the length of the adolescent period and the
definition of adulthood status may change in a given society as social and economic condi-
tions change. Examples of this type of change are the disappearance of the frontier in the
latter part of the nineteenth century in the United States.

BEXEARAR. HES2BREMES . but he also can marry without parental
permission.

ERCHEXFEARTE. BBLEFR, 16 $i, FHER DURBEHIE, T
RAST 21%, 14+ Wik Bk ARERD (B rEe- BB 4. 6. 74D,
B D NEER. WEXZHFE, 16 H 0T, BOEWDURRH LM, mMRE
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P —EAHAKIERRNBSE T, SEYHSENED, REOLE, SRBKLEY
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41.

42.

43.

44,

45.

M, BERHID: FEZEEK.

BHEME, EXHMNEYEEKRTERBRT Z AN — P ThAE 2
SICES 1 B3 6 £): The carbon dioxide from the air may enter the leaf as a gas but is
dissolved in water in the leaf before it is combined with a part of the water to form simple sugars,
LK% 2 BYS 2 4: The processes of photosynthesis, by which carbon dioxide and water are
combined ... to form sugars, HILE] B ZE MR E T2+, FREVEEEEH.
FAEHA. B. CHIAGER. (BHES 18861, B84, B2 RS 24, 347.)

MY, ERAA: (REVYHTEERR, REERANELDTER) BRE.
SRXEF2BE2H/. WETH in terms of X : B

B B. CAIES: DMREFAZ: SRS KESNAERBHTIRTGAL
HE X B (the essential function).

EFEAEE, BEENC: HYUHLHABYBEEE LK.

F2BRMB1ARIET ZBMEE: The actual amount of water in the plant at any one
time, however, is only a very small part of what passes through it during its development. 2=
BT 3CM carbon dioxide intake 5 loss of water 5 T 1480 T ix4 £ 5.

A B. DAIRENANERAHHERERE ZRMEE.

AW, BRI D: HYPRE—BH - EURELR.

SCEE 2 BB R —H] Also, not all of the carbon dioxide that enters the leaf is synthesized
into carbohydrates (HIEFTHBEAM FHR-EABREERTHEAILEY).

B A FRIEMARE P | RS 4 07 A The mineral elements from the soil that
are usable by the plant must be dissolved in the soil solution before they can be taken into the root.
BRBFREWABESXHE 1 BRET. 8 UHELHR.

TR C FIRIEHABREXFSHXES 2 B 6 YT Since carbon dioxide is
present in the air only in trace quantities.

EBE, BRNB: KEEWEKIRPMEEHRA,

XER1BBIUFATXEKNES: Certain it is that all essential processes of plant
growth and development occur in water. J/%H A, C. D HAREH.



=. 1992 £XA 11

. 1992 4

(—) BEERES

Directions: Each of the passages below is followed by some questions. For each question four
answers are given. Read the passage carefully and choose the best answer to each of the
questions. Put your choice in the ANSWER SHEET. (30 points)

Text 1

It is all very well to blame traffic jams, the cost of petrol and the quick pace of modem life, but
manners on the roads are beaming horrible. Everybody knows that the nicest men become mon-
sters behind the wheel. It is all very well, again, to have a tiger in the tank, but to have one in the
driver’s seat is another matter altogether. You might tolerate the odd road-hog, the rude and incon-
siderate driver, but nowadays the well-mannered motorist is the exception to the rule. Perhaps the
situation calls for a “Be Kind to Other Drivers” campaign, otherwise it may get completely
out of hand.

Road politeness is not only good manners, but good sense too. It takes the most cool-headed
and good-tempered of drivers to resist the temptation to revenge when subjected to uncivilized
behavior. On the other hand, a little politeness goes a long way towards relieving the tensions of
motoring. A friendly nod or a wave of acknowledgement in response to an act of politeness helps
to create an atmosphere of goodwill and tolerance so necessary in modem traffic conditions. But
such acknowledgements of politeness are all too rare today. Many drivers nowadays don’t even
seem able to recognize politeness when they see it.

However, misplaced politeness can also be dangerous. Typical examples are the driver who
brakes violently to allow a car to emerge from a side street at some hazard to following traffic,
when a few,seconds later the road would be clear anyway; or the man who waves a child across a
zebra crossing into the path of oncoming vehicles that may be unable to stop in time. The same
goes for encouraging old ladies to cross the road wherever and whenever they care to. It always
amazes me that the highways are not covered with the dead bodies of these grannies.

A veteran driver, whose manners are faultless, told me it would help if motorists learnt to
filter correctly into traffic streams one at a time without causing the total blockages that give rise to
bad temper. Unfortunately, modern motorists can’t even learn to drive, let alone master the subtler
aspects of roadmanship. Years ago the experts warned us that the car-ownership explosion would
demand a lot more give-and-take from all road users. It is high time for all of us to take this



